C:# Finding Product (3 x 2) Name:

Solve each problem. Answers
1) A gasstation sells 165 gallons of gas an hour. How much gas would they have sold after
79 hours? 1
2.
2) A pizzachain uses 571 grams of cheese on their pizzas. If they sold 19 pizzas, how many
grams would they have used? 3.
4.
3) Each day the gumball machinein the mall sells 141 gum balls. How many gum balls
would they have sold after 69 days? 5.
6.
4) There are 757 hotelsin ahotel chain. If each hotel has 36 rooms, how many rooms are
there total ? 7.
8.
5) A school district ordered 467 new science text books. If each text book had 86 pagesinit,
how many pages are there total in al the text books? 9.
10.

6) A golf course driving range goes through 243 golf balls a day. How many golf balls would
they go through in 32 days?

7) A mail sorting machine can sort 414 pieces of mail an hour. If it ran for 58 hour, how
many pieces of mail would it have sorted?

8) A movietheater sells 227 buckets of popcorn aday. If each bucket has 33 pieces of
popcorn in it, how many pieces do they sell in aday?

9) Theice machinein the lobby of a hotel makes 912 pieces of ice aday. How much ice
would it have madeif it ran for 48 days?

10) A pallet of toggle bolts weighs 620 kilograms. If awarehouse has 48 pallets, what is their
total weight?

1-10 90|80 70|60 |50]40]30]20[10] O |

[ M ath ] www.CommonCoreSheets.com




Ch Finding Product (3 x 2) Name: Answer Key

Solve each problem. Answers
1) A gasstation sells 165 gallons of gas an hour. How much gas would they have sold after
79 hours? 1 13,035
2. 10,849
2) A pizzachain uses 571 grams of cheese on their pizzas. If they sold 19 pizzas, how many
grams would they have used? 3. 9,729
4. 21,252
3) Each day the gumball machinein the mall sells 141 gum balls. How many gum balls
would they have sold after 69 days? 5. 40,162
6. 1,776
4) There are 757 hotelsin ahotel chain. If each hotel has 36 rooms, how many rooms are
there total ? 7 24,012
8. 7,491
5) A school district ordered 467 new science text books. If each text book had 86 pagesinit,
how many pages are there total in al the text books? 9. 43,776
10. 29,760

6) A golf course driving range goes through 243 golf balls a day. How many golf balls would
they go through in 32 days?

7) A mail sorting machine can sort 414 pieces of mail an hour. If it ran for 58 hour, how
many pieces of mail would it have sorted?

8) A movietheater sells 227 buckets of popcorn aday. If each bucket has 33 pieces of
popcorn in it, how many pieces do they sell in aday?

9) Theice machinein the lobby of a hotel makes 912 pieces of ice aday. How much ice
would it have madeif it ran for 48 days?

10) A pallet of toggle bolts weighs 620 kilograms. If awarehouse has 48 pallets, what is their
total weight?
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C:# Finding Product (3 x 2) Name:

Solve each problem. Answers
13,035 10,849 27,252 40,162 24,012
29,760 9,729 43,776 7,491 7,776 1
1) A gasstation sells 165 gallons of gas an hour. How much gas would they have sold after 5
79 hours? '
3.
2) A pizzachain uses 571 grams of cheese on their pizzas. If they sold 19 pizzas, how many
grams would they have used? 4.
5.
3) Each day the gumball machinein the mall sells 141 gum balls. How many gum balls
would they have sold after 69 days? 6.
7.
4) There are 757 hotelsin ahotel chain. If each hotel has 36 rooms, how many rooms are
there total ? 8.
9.
5) A school district ordered 467 new science text books. If each text book had 86 pagesinit,
how many pages are there total in al the text books? 10

6) A golf course driving range goes through 243 golf balls a day. How many golf balls would
they go through in 32 days?

7) A mail sorting machine can sort 414 pieces of mail an hour. If it ran for 58 hour, how
many pieces of mail would it have sorted?

8) A movietheater sells 227 buckets of popcorn aday. If each bucket has 33 pieces of
popcorn in it, how many pieces do they sell in aday?

9) Theice machinein the lobby of a hotel makes 912 pieces of ice aday. How much ice
would it have madeif it ran for 48 days?

10) A pallet of toggle bolts weighs 620 kilograms. If awarehouse has 48 pallets, what is their
total weight?
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